



$${}_{1|1}n\mathbb{H}_n^{\mathbb{U}} \ni y = \frac{a}{c} \left| \begin{array}{c} b \\ d \end{array} \right| = \frac{0}{1} \left| \begin{array}{c} -1 \\ 0 \end{array} \right| \frac{a}{c} \left| \begin{array}{c} b \\ d \end{array} \right| \frac{0}{-1} \left| \begin{array}{c} 1 \\ 0 \end{array} \right| = \frac{d}{-b} \left| \begin{array}{c} -c \\ a \end{array} \right| \Leftrightarrow y = \frac{a}{-b} \left| \begin{array}{c} b \\ a \end{array} \right|$$

$$\frac{a}{-b} \left| \begin{array}{c} b \\ a \end{array} \right| = \in {}_2\mathbb{C}_n^{\Omega}$$

$${}_{1|1}n\mathbb{H}_n^{\mathbb{U}} \ni y = \frac{a}{c} \left| \begin{array}{c} b \\ d \end{array} \right| = \frac{1}{0} \left| \begin{array}{c} 0 \\ -1 \end{array} \right| \frac{a}{c} \left| \begin{array}{c} b \\ d \end{array} \right| \frac{1}{0} \left| \begin{array}{c} 0 \\ -1 \end{array} \right| = \frac{a}{-c} \left| \begin{array}{c} -b \\ d \end{array} \right| \Leftrightarrow y = \frac{a}{0} \left| \begin{array}{c} 0 \\ d \end{array} \right| \in n\mathbb{H}_n^{\mathbb{U}} \times n\mathbb{H}_n^{\mathbb{U}}$$

